
U3(8).31 (mod 19)

blocks defect matrix

G : 1 1 11× 9
2 0 571 = χ3,0, ϕ3,0

3 0 572 = χ3,1, ϕ3,1

4 0 573 = χ3,2, ϕ3,2

5 = 2 0 574 = χ4,0, ϕ4,0

6 = 4 0 575 = χ4,1, ϕ4,1

7 = 3 0 576 = χ4,2, ϕ4,2

8 0 1331 = χ5,0, ϕ5,0

9 0 1332 = χ5,1, ϕ5,1

10 = 9 0 1333 = χ5,2, ϕ5,2

11 0 1334 = χ6,0, ϕ6,0

12 0 1335 = χ6,1, ϕ6,1

13 = 12 0 1336 = χ6,2, ϕ6,2

14 0 1337 = χ7,0, ϕ7,0

15 0 1338 = χ7,1, ϕ7,1

16 = 15 0 1339 = χ7,2, ϕ7,2

17 0 11971 = χ8+, ϕ8+

18 0 4561 = χ11,0, ϕ11,0

19 0 4562 = χ11,1, ϕ11,1

20 0 4563 = χ11,2, ϕ11,2

21 = 18 0 4564 = χ12,0, ϕ12,0

22 = 20 0 4565 = χ12,1, ϕ12,1

23 = 19 0 4566 = χ12,2, ϕ12,2

24 0 15391 = χ14+, ϕ14+

25 0 15392 = χ17+, ϕ17+

26 = 25 0 15393 = χ18+, ϕ18+

3.G : 27 0 1711 = χ29+, ϕ23+

28 = 27∗
29 1 11× 9

30 = 29∗
31 0 11972 = χ35+, ϕ29+

32 = 31∗
33 0 13681 = χ38+, ϕ32+

34 = 33∗
35 0 15394 = χ41+, ϕ35+

36 = 35∗
37 0 15396 = χ44+, ϕ38+

38 = 37∗
39 0 15398 = χ47+, ϕ41+

40 = 39∗



Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ2,0 ϕ2,1 ϕ2,2 ϕ13,0 ϕ13,1 ϕ13,2

11 = χ1,0 1 . . . . . . . .
12 = χ1,1 . 1 . . . . . . .
13 = χ1,2 . . 1 . . . . . .
561 = χ2,0 . . . 1 . . . . .
562 = χ2,1 . . . . 1 . . . .
563 = χ2,2 . . . . . 1 . . .

5121 = χ13,0 1 . . . . . 1 . .
5122 = χ13,1 . 1 . . . . . 1 .
5123 = χ13,2 . . 1 . . . . . 1
17011 = χ23+ . . . 1 1 1 1 1 1
17012 = χ24+ . . . 1 1 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ2,0 = 561
ϕ2,1 = 562

ϕ2,2 = 563
ϕ13,0 = 5111
ϕ13,1 = 5112
ϕ13,2 = 5113

Blocks 29, 30: ϕ26,0 ϕ26,1 ϕ26,2 ϕ27,0 ϕ27,1 ϕ27,2 ϕ28,0 ϕ28,1 ϕ28,2

1891 = χ32,0 1 . . . . . . . .
1892 = χ32,1 . 1 . . . . . . .
1893 = χ32,2 . . 1 . . . . . .
1897 = χ33,0 . . . 1 . . . . .
1898 = χ33,1 . . . . 1 . . . .
1899 = χ33,2 . . . . . 1 . . .
18913 = χ34,0 . . . . . . 1 . .
18914 = χ34,1 . . . . . . . 1 .
18915 = χ34,2 . . . . . . . . 1
17013 = χ50+ 1 1 1 1 1 1 1 1 1
17015 = χ51+ 1 1 1 1 1 1 1 1 1

ϕ26,0 = 1891
ϕ26,1 = 1892
ϕ26,2 = 1893
ϕ27,0 = 1897
ϕ27,1 = 1898

ϕ27,2 = 1899
ϕ28,0 = 18913
ϕ28,1 = 18914
ϕ28,2 = 18915


